Adventures in Arithmetic
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Then puf on 2 more slf?s

How many slips are in e ow bl

S e

Rt © ships of psper in & row.
“Then put on 2 more ships.
How many slips are in e ow now
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Adventures in Arithmetic

BANANAS

IF you don't have any bananas, use
sln,os of paper awd pretend

T TR e T T
o A o 3

8 ﬁt{’ . bananas in a row like ‘{fus :

/ q@dad \

| “en fake 2 of he bananos awey

/TN

Hou) many bananas e /ex”f?

Fuf 4bananas na pw.

/ €ed (‘ \
Then take 3 of the bansnas a0y
How many bananas are left7

fut @ baanes in & row.
“Then take 2 of ‘the bananas away .
How Mar\y bananag are lett 7

E i ,-_’.. “;-cv'y- SRR R
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N ...".'= -u@«L. TN Al

?e PLC(Z 5hamburé@rs in a r‘o

How many c{:c{ you‘@ke 8&03)1
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HAMBURGERS

TF you dont howe any hemburgers, use
5':,03 GP paper and pfefend

T e

Put 5 hamburgers in & row like ﬁus

/[ @06 \

—

“Then ke augy oll of e hamburers
except for 2 <

i ‘. e e R AL S AT A
Eid s e J;_ﬁae' S ,,_r..‘,‘ ,-._.' l,

/ cocee

“Then take away all of te hambargers
exeept for 3.

TS L

Puf 4 ham(ou ers in & TOW.
Then Hake away ol of tre hamburgers
exeept for 1.
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PINEAPPLES |  PANCAKES

ﬂ“ yox don't have any pmeappes use Sslc of paper 'Pr ﬁey are Paneakes
: ps b paper sl prefem s T

P ut 3 Pa"cakes m ‘ffie f«rst (ooo )

T e start walang @ new fow:
i Puf 4 pmeaioples na e like ths: e
| \ OO0

O

S\‘op 3s soon as there are 7Paneakes on

the whole bl

S
How Many paneskes are in 'ffle sacond ow

i\ vv'rrr:uv> &\ :-,--;—\\N—-,p.,f,. nsore

R T —
R A B,

“Then anoffter ow with 2 f:ineapf/es:
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fat & Fa"cake‘ in the ﬁr:f reus; thon, G

maknng’ 3 New row:

COOCOO
O

Stop &5 soon as thee ae O pancakes
on “Ule whole table.

Hooo Many pancakes are in ﬂw second o L
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Then ma)(e anoﬂuer ow with 3 pew neaﬁales
ltogeﬂ\e( ]1ow mauY P neapples did you use
- PUf 3 pancakes i 'f/fe 'ﬁrsf row; then start

makmg 3 new row.

&Swnasﬁe
e e e B sl

f"u" How many Pamkes are in '&e Secomd Pt if '

Rt © pinespples in a. fow.
'rhm make ancther row with 4 new f’m&p(’es
7




Adventures in Arithmetic

WAFFLES

Use sltps of paper Retend “dﬁaf ﬂey (4 waf\qes

A ST AT AT
AT T

"‘f{f(Ma)(e ﬁda ows.,

“uow mny more u)a#/es does I{ have
[ Rttt nth bt o]

J\ w many more waFPles cloes it have %

R s o

L T NS VL B G S5 T b P
R S ‘:.{q “-‘. 7

Rt G waffle e ]
fist rows; put 4 yiablles in The secord row.

OOO0O
OO0 »

Whlch ow /ras More u)a#/es n n‘? b

Fut 4 wattles m‘fhe second row.

Which cow has more wattles in it?

i oA ST T

r Hit 5 wa{"tc/es n ﬂle {;fsf fow.
Fit 3 waflles in~the second row .

Which row has more wstfles in it

e A

= T v
e e A T P T A P o TR et
R Ny A Rt

4 How many more watfles does it have 7

—re > T
AL TS e N el st g e BRI S 3 s
R T T A S T T Tt

Problem Solving

FICKLES

Use Sf;ps O‘F payer Pefend ﬂrey are Pncfdes

e e e

R
R e

S R SRRt I, TCT

: u-la» wany pcdde: are in ﬂrc second row 7
r Frsf puf 4 p:ck/es N a pw. |

ﬁf vt pqt 6’ p:c/(/es M a row /1/(€ ‘(%s

a000

Then make 3 new row that s I e
pickle in it than -the ficst ow:

0000
0000

Page 4
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N e

 How ren piles o inthe serd w?

Nt

First put 3 p:cldes ina rew:

: 000 \

Then make 3 new row that h
pickles in it thon ﬂloewﬁrst rwas 2 e

Tﬁem Mmale a new [ 'ﬂﬁf
pickles in tfﬁlen‘dlo;o‘ﬁr:sf rfzs S

How> Many pncldes are in the second row” J

v T T
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:\{‘?i‘?
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Adventures in Arithmetic

CARROTS
U s ,Ios 010 Paf)er FFefmd ﬁe)( are can'ofs

ST -.!;C(g,-!(-“: ,f-v _u.-' —va‘;\"w

Lt k5

‘ Then make a naw row' thet has 1 §
carot in 1{‘ fﬁan '&( frsf ow: il

F rsf put‘ G carmts inarow:

i \

Then make 2 new ow that has 2
L:’ Carfots ih l't -mah ﬂe 'Flfgf 'a’jw Fewer

H How wauy carots are in the second ow™?

v e
O R S A A s B0 A0 S 20 et

Frst Puf 5 carrcls in a o,
] Then make 3 new row that has 3 fewer
| carrots in it than the First ow.

How many carrels are in the second w ¢

v—uJ m-m‘( c-raq:rr:», =

e AR £
SRRSO AT SR A B S LTS Ay

T e e TN
Sdaa LS S S
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Problem Solving

TOTATO CHIFS
slips of paper. Retend %ey are polto ehips .

f e ,{%"“M e E P T RN - e T s

> ]
;V‘%-' S N e S S mém."" e SO SRR R u&t:mwwﬁ

Make 3 ws. Ef 4 potato ahips

in each row [ike

OOOO
OCO0O
OO0

Alfoge('/ter how many potato chips
did you use?

o

&‘,:-g&\.j

C W

AN P 4
5 ‘.'-‘:v'-:":'?‘ﬂ‘.-..if’““ ME 2

F ,:':;7"

B A

e

TR ES T

Ry K e e
N o G e o P T A

T é‘* R —.a:g.z;:“:.i-‘_f?,_._

n mw.

How meny peteto chips did you use !

~ = e ot

T T e g Do R

G N R SO s e S T
g X PR o S >

T e T b
o Sy A _‘dcw ‘, 3"""’1 TS w H
w*’ P &u"u 5 o

Make. 2 rows. Het Poﬁfo
thPS in ead'l ow.

TR, PRRRAT R
% {.u‘ 1:' ;ta 'f»"’i”é’v-‘&"«z"

SR L2 st 3

R
?__"{-;v“- g

)

N TS BT
R A o s

How Many po‘('afo ch-Fs C‘lC‘ You use
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Adventures in Arithmetic

E s e sy s s

R R T

USQ 5,|P5 O‘P nge( 'P—ete”d _de - GDO‘(«e,g

Then put them on a ‘fab/e—[Juf

Then puf them on a table— put

COOKIES

Q@Q@W |

R T T s
)-?}lk"al”_ug i _':”»‘A

4 eoolaes in each ow like this-

OO
OCO@D
SOOD

HON Many ows did you make

e
LS Bl

o
BT

)

RN

0%

AL C«-—?’.ﬂxa’»&;armxhzm'm“

‘(I"c‘({v

S 7m“*

D L 2 o

& cookies in each row.

h‘ow many fows did you sale?

K TG ﬂwmmmﬁmxzm-waw i

Ho/d 8 cook-es in rhano‘
Then put them on a '(able—/ put
= coolues in ead\ oW.

Problem Solving

~ TOMHATOES
USQ 8‘(,08 of Pafer ?reﬁeuc{ ‘(ﬁy are fomafoes

Then use ‘(’éem f:D make 2 rows. TY
i & end up with the same number of
1 t‘romafoes in eath row:

Colsrlaleote )
SOOO®

How many {bmafoes endeo’ uf in each o’

TR R R T T I A
1 S ot

Then use‘them te make 3 ows. T
to end up with the same number in each ow.

How many fbmafoes ended up in each ow /

el

CULl ekl

IR RN Srcah

Ho/d 6 fom .:(’oes - ‘ w..,hwdm IS,

Use them T make 2 Ows. ’I?y to
end u.p W"ﬂ\ ‘fiae same numbe(' In eacl« ('ow.

H°W '"MY é"‘ﬂ{bes ended up in each ow

Page 6



Adventures in

rithmetic

CHAPTER 2

A PlICTORIAL
APPROACH

Problem Solving Page 7

CIRCLES

-
rbfw 4 dicles on a sheet of paper:

Joo00 N~

% C{faw 1 rmore cirele:

e\

HO‘U many cicales are on The papec yow ¢

@@wsa.mma seet of paper

/000 ¥

Then draw Z more cireles.
UOw many cieles are onthe paper now?

o

)

Draw 5 circles on a sheet of paper.
Then draw | more cirele.

How mamY sireles are on the paper nows ¢
-




Adve

nture

s in Arithmetic

MEA’IBALL&

b R ot N

D(au) a pnc‘ture of 5 mea‘fba”s

/ 00000
<

“Then cover up 2 of the meathalls
wi‘(’h your s }tam{ like "MIS

L= X

LHO'*’ many msa(’baﬂs can you see now ’

Dew & pictce of 4 peatboll

/oooo \

1 “Then eover up ! ot the meatballs

with your hand.

JL

| Drow a picture of G meathalls.
{ Then cover up 2 of the meathells.

L Houw many meathalls can you see viow ?

i P——

Draw 3 '(’ome'foes ina row like Yis: —\

AN

L How rnamy fomaioes are under your ham{ 7

( Deaw 4 ‘tomaines W

Problem Solving

7’ MAﬂDES

Dra_w 5 fom#oes N & row /ul(e ‘('h,g Z

/ooooo %\m

“Then use your hord 4t cover up el
| the éomatoes exeept for 2:

[\

| How wony tomaties e under your haud? j’f?j

| Then use your hand +o cover up 2|
A the fomei“oes axcept for 1.

RN

HL How many fometoes are under )lour hand 7 3

Page 8



Adventures in Arithmetic

ROCKS
'Draw p«c‘(ures of rocks

SR PN AL e

x
-.mu._;.A‘, e K A S A ) ‘Hﬁ;& TR T

P T R R e R o
e i

{ Stert with 4 blck rocks in a o bt

/ *20e \\

| Then draw & o with 3 whe rocks.

/T \

ffogéﬂler how mam/ rocks did You dran”

Sfarf with 5Hac/(rock§ ina fou Ike'ﬂus

iz \

1 “Then draw & row with 4 white roeks .

S{Er‘f w«ﬂt G black oeks In @ row.
Then draw a row with 2 white rocks .

YT T

A v
s

> s R RS
R I ST T DRSS <
b,

Hlévgefker })ow many oeks did }bu draw ¢

2
2

S

) 7 St rn Bl o o aby S "
’:.m%"ﬁ A N P AR A S S R

TG BT AT

RETPAYE
e s
5

; Draw 5hocola‘e aocldes,

Problem Solving

COOKIES

:Draw picturcs of cookies:

Stop drawing as soon as there are
© cookies al(’ogeﬂ\er:

- n Y

'D(e».\ 3 chocola:& cooloes, f&en
start Vnak-'ng' vanilla coskies -

/88%

Stop when ﬂtere are 7cook-es altog’e'(ﬁer
How many Vanilla cc\ok-es d-d you draw?

stert making venilla cookies .
Stop when™tere are 8 cookies al(bgz'dtef.

HOW MY Vam“a cooldes dld you draw7

Page 9
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Problem Solving Page 10

PoTATOER TENNIS BALLS

Dﬁsu\ Pthur es o{" Po‘fa,‘foes; DF&N Pn‘ctures o\c '(’E_nnis bd"S'.
Ficst put 4 tennis balls in g oo 7

Make G rows. Rt 5 tatoes m ©Sooo
fiest row;  put 3 pofafaef:) in The mnj U [ —\

Then melte & new wus Gt has 1
/Sgg OOA temis ball in it thonthe ﬁr-sti:w; More
A\

Whld\ ow h&S more Po'fa'(oes " lf7 DCES S o5
How ma&'ly more Pofafoes dOQS it h\"‘/\@?’ HDN many 'fenm‘s bells ate in The new rO(D?

Pt 4 POfeﬁ)&c in te first row., fiet P“f T ok il o
Rt 4 potetves in the second rey: / coee 1
/ ;3 02 O “Thew make a new row that has 7 more
o tennis balls in it than the

Which row hag more potatoes in it! e e T it o
How wany more potetoes does it have 7 How mony ewnis balls are inthe second @u !
At © potatoes in Yee st . Fist put 3 temis balls in 2 @w,

Fut 4 potetoes inthe second row. | Then make o new @w et has | more

Which @w has more Fo'fe:l’oes in it bennis ball in it Yon the ficst cow.

How meny more po'fdoes does it have?

K\ How many Tenis balls are in the soccnd @7 B
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Problem Solving Page 11

‘ |
FGGS PICTURES OF GRAFES
Drw pi ;
Do pitues o g Mike 3 ows. Rt 5 gopesin |
First put & egss m @ row: i eath vouw like Ghis:
&o O r Cooo0oO0
00000
Then me)@;nj;rzmﬂafhasl fewer 00000
e in it than e tit rew - ‘
Altogether, how wany grapes are
Co0OO og’ ! Y géFe
_/ ooog \ on the pRper ¢
Hous many egos are 1n the second row? F
— Make 2 R
Fiest put 5 egss N @ fow: in each rowrc.)w& o graf)es
/ OO0 \
Then meke a new mw that fas P fewer Hou many fapes 3= o te PQF«?
egss in it than e fict ow.
How mwy eggs are in the second row/.z Mal(e 3 rows. Rﬂ‘ /7L S’QP&S
Frst puf G eggs in a row. m Bl B
Then make a new ow Tl has | fewer
egy in it then “the fit ow. How many apes are on e Fé,oerr)
N How many eggs are in the second w7 y J




Adve

ntures in Arithmetic

PICTURER OF PRUNES

-

F?uf 5 pruves in each row. Keep

making new rows witil there are
20 prunes on the paper:

elelolel
Ccococor
OCOOAD

SO

How meny fows did you have & male”

fuct 3 prunes in exch @w. Heep
mak-mgr news ews witil fhere are

5 prutes on the paper.
How many ws did you have t& make?

Fot 4Pfunes n eah row. Keﬁp
Mal(ivlg’ new ows witil there are
2 prunes on ‘fhe paper.

How Meny cous did you have t male?

Problem Solving

PICTURES OF PEACHES

r/\’1&11(0. 2 rows. Tt the same number
of peathes in each row. 'Tfy o

end up with 8 Peaches onthe paper:

cooo
Socoo

How man thes did s
" ); peaches did you put iy

)

Make 3 rows. Tut the Same number
of peaches in each . 77'3 1o end
up with |15 Feadtes on the paper.

How many peaches sfe in cach row”

Make 2 @uws. Rut the same number
of Fﬁédles in each row. T':Y 1‘0 end
up with 12 peaches on the Paper.

L How many peaches are in each row?

Page 12
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THE SAME ANQIFR

[ (6 ~
CHAPTER 3 o‘
CHOOSING- AN
& (XD
OPERHT?ON Alfogefkeﬁ hows many bo:_a[;-ng—' balls ave in
! this Pic‘tum?

“There sfe two p'oblems in the box below.
Which problem has the same answer as
the bow(ing bell question?

r ]
3
+2 2




ventures in Arithmetic

RED AND GREEN

(
There are b red apples on a teble.
There are 2 green apples on the table .

~
/f@@f@@@ U\
i I

i

-

Al ef, how many apples are on the Table?

sl

N

©
2le +Z

Whiéh problem goes with The apple Wesﬁon ?

Problem Solving Page 14

BANANAS

Only one of the questions below goes
with this code: 5

{5 1]

)

’r(Y o guess. which quesfsbn Goes with the code.

“Thete ate 5 bananas on g Geen table.
“There is | banana on a red table.
thich table has more benanas on i{’?

’mere are 5 bananas in a box.
2 o you pul | more banana inthe box,
how many bananas will be in the box?




Adventures in Arithmetic

ORANGES

Use & peneil and paper.

’I?Y To write the code that
Goes with the clu&‘é‘ov\ in
the box below.

(1

% this .leo(Y 7

e

ee are 4 onges on & {able.
“There are 3 oranges on 3 chair.

mfog’eﬂw‘, how many ofanges are

=4

Problem Solving Page 15

5

!

How many egSs are il white? h

Whieh of these problems has the same
answer as The egg ques'ﬁon7

3 3
Xz =z




Adventure

s in Arithmetic

WATERMELONS

-

Thee are 4 watermelons on’ The {able.
T 1 of them falk off. how many
will be left onthe table?

Problem Solving Page 16

POTATOES

Only one of the
with "dtis cOde:

5
bt 2

7?7 % guess which Quedfon goes with The eode.

There are 5 inside @ Eag‘.

T you put 2 more pitstoes. into the
beg, how many poleloes will be
inside 7 |

qxesfbnn belw qes

-
i
l

2
- |

4

Whieh poblem goes with Yre
watesmelon clueSfion 7

[ i
There are 5 potatoes inside & beg:

T you take 2 of the potatoes cut of
the bag. how many Po'tafoes will be
lett inside ?




s in Arithmetic

BALLOONS

Do not answer the questions onthis page.
Dust ‘fry 1o Quess which cluestbn goes
wiﬂ/\ Hhis code:

25

— 0

———————

[ There are 25 balloone on a table.
I¥ G of the balloons Pop: how many
balloons will be left 7

N

)

J

[
Thee ae 25 balloonc on a Gabl,

e you put G more balloons on the
table, how many balloons will
there be”?

2

Problem Solving Page 17

ROCAS

Use o pencil and paper Try o write
the code that goes with The cl_ued'}on
on his pege. ( You do
nol have & answer

the question. )

“There are 37 rocks in a ba,gf
Tf you'éke b of te weks out
of ‘dw b% how many rocks

will still be inside?




Adventures in Arit etic

THONE IN BOXES

\_

/ufog’eﬂtﬂﬂ how Many people are in Yic P.‘ahre?

o

e 7
$od X3

Which Prob'em hes Hhe same answer
as the pecple CEAESbOW(?

Problem Solving Page 18

PILES OF TOMATOER

There sre 4 bwmetoes in each Pi}e .
Thee ate 3 piles.  Atogether,

L how meny tomatoes are onthe table” J

by 4
+3 .- b 4

————— ——

Which problem goes with the
tomato q'uesfion'?




s in Arithmetic

CARROTS

Oml\/ one of the Guestions beJows ges
with this code

<1
ﬁ  guess whiek guestion @es with the eode

~
@Me are Scansts in eanh pile.

There ate Z piles. Aftogethes; how
tany cafrols are in this Sfbr}/?

= =
There 3k 5 casts i & pile.

If you Teke 2 of the carrats away,
how many will be left i the pike’?

8 _J

Problem Solving

TEOPLE AND THEIR FEET
Do net answer the %esﬁons on“[Zu‘s page .
Jud ‘b‘y fo guess which question es with
Hhis code

“There are I people Sfanding on a Table.

e

/—
There are 10 people standing onThe oo

Prléoge‘d\er, how meny people ate sfauc/:ng7

i

—

1% people stendingr on a Table .

Al(’ogeﬂt@r. howd many foes ore onthe bhle”
—_

Fach pesson has 10 toes. There ae B

J

Page 19
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RAISINS
Use a pencil and paper. Ty to wite

the code ‘that goes with the question

on this poge. ( You do

not have & answer

the guestion 3

r’l'here are 37 aisins in eath pile.
There are |4 piles. Altogether,

how many @isine are in Hiis sfory?

~

Problem Solving Page 20

y

Houd mGny pairs of sealis do yoo, e n
this p«'dure?

r

g e

(Which code goes with the
socke chLesfa‘on?
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HAMBURGERS
Do not answer the iueSéions on “this fage.
Tast fry fo guess which Guestion goes with
this code:

515
Hete a 17 flowen. TF you Pﬂd them There ate |5~ hamburpers on a table .
i bunches of 3, how many bunches ™ \ou pwf 5 of the /lamburgers
aould you m&]@? in eaech Pile, how manY ,Vi/es can
you meke?
a [ [
178
32 -3 “There are Ifhawburgwsonafable. 7
] J T you put S more hamburgers on'the
——— bl ) oy b o
i fhere be.
Flowers CI/ueaﬁon / . )




PINEAPPLER

Don't answer the questions on This page.

Just try ‘o quess which cpesﬁon goes
with. thic code:

0[70

s
“Thete are 70 pinespples in exch pile.
There are [0 piles. ﬂ/fogeﬁwr, how

many pineapples a in s 5{0'7?

\

Thete are 70 pineapples. T you
put |0 of the pineapples in eath
pile, how many piles can you make 7

| —p-

Problem Solving Page 22

TELEVISIONS

Use & peneil and paper: Ty to write
the code that ges with the ?’ueSfion

on this page ( You do
not have to ansuer ﬁ/&’

Hhe iuesﬁ on \

|

(

There ae 84 television sets.

T you Pt 12 of the televisions
in each pile, how many pifes
G you make 7
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CHICKENS L EMONQ

L y

5 chickens a onthe left side. 2 chickens

are on “the nght side.  How many more ‘
ate on ‘the left side thon ae on the e dog WG = orns,
fight side? The person has only | lemon .
How many mofe lemons cloes the dog have 7
= , [
5 5 y 4
Xz -2 = +1
- / L.
Whick code goes with the Which code goes with the

chicken Gluesfion 7 lemon quesfion 7




s in Arithmetic

CATS

Do not answer the q/uQS‘(’uan on This Pag’e.

Just gu,ﬁs which q/uesf'ion Sfoes with
‘t&lfs (!D({é:

G
s 3

( Nour best friend hes G cats.
You have 4 csts. How many
moe eats dpes your ttiend have 7

\

FYOW best friend has G cats.
You have 4 eats. TF you pul
all the cafs z‘ogeﬂter, how any

cats will There be”
e S

W

J

Problem Solving Page 24

TEAMS

Dont ansuer Hhe cﬁ;.esﬁons on “this Page.
jus(’ g’uass which @ues'fion %Voes with
this code :

38

=3z

[ B
Yous feam has 38 points.

Another team has 32 poirits

¥Hou) far ahead s your team”? y

a8 ]
A feam has 38 poinfs..

If they gel 22 more poirits, hou
many. points will they fove 7

~— J
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COCONUTS

Use a Penci) and paper: Write

the code that goes with the
question on this poge ( You
don't have 1o auswer e 7/u€sfion \

- ) “There are 8 beads . Fyoucui‘(he
There are. 67 eoconuss in a big pile- 5ﬁ’iﬂg ulo 2 pieces this way, how
Ancther pile has onl\/ 12, coconuts . Yeny beads will end Up on each piece?
How Many mote are in the bisr Pile? |
]
B
— - ) 47 2/7

—

whid/\ code goes with
the bead question?




Problem Solving

CANDLER SRAFEY

Don't answer Tthe questions onthis pace.
Sust guess whieh 1uestion goes with

LLLLL i
A P

“There are 40 grapes. There }
ace 2 people.  Tf ‘#\e\/ are
“There. are @ candles. T you aut fair how many glepes should
the cake nfe R pieces and gel the Lead« petson gtf’?
same number of candles on esph piece, et )
how many candles will each p; ¥
Y N have r:Wrere are 40 grapes in each )
7 - Zile. There are Z piles.
H:og@ttfxer, how> man g
;rz )—éd X3 / ae in s S(bry? S5
Which eode Qoes (oith ‘\

_
the candle cLuesfion?




in Arithmetic

Problem Solving Page 27

PEOPLE PEANUTS AND ELEPUANTS

Don't answer the iaesfions on~this e . se a pencil and paper: y
Just Suess which q/uestion Qe with Write the code thet goes ,/

this code: with the czuestion on
— this page. ( You don't
% },9, 6 have to answer e Zuesfion,\
Thee are 96 peaple. Tf You | [f
wart o make 8 eyen teams, “There are 126 peanuts . \
how many people should you There are (4 elepham‘fs.
put on each team”? T be 'Fair, how many pe&nuds
e ]
: should each elephart get 7
r’ﬂnere are. 96 people on one team,

Thew ae g peeple on andther team. N, _J
How many more peple are on “the

t big team”
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BATTERIER CHAIRY

- -

L SRR

The redio needs 4 battenies. I you went & eheirs but you
You have 3 batteries. only have 2, how many more

How many more do you need 7 chairs should you g’ef7

) 4 4J % 3
ezl = Z X2

Which code goes with the Which code goes with “the,
batteries ci,uesfion? chair auest?on 7




Adven

tures in Arithmetic

SANDIWICHES

Don't answer the q;xesﬁons on This pege.

Just guess which Quesﬁon goes with
this code:

|7
—

Your dog” wants 17 sanduiches.

You have already made 3 sandwiches.
How many sanduiches do you still
need to make”!

o ——
R

Each dog wants |7 sanduiiches.
There ate 3 dogs.

Alogether;, how maiy sonduliches
will you need ?

e

Problem Solving Page 29

MONEY

Dawt apswer the wms onhis page.
jusf Luess which guesﬁ'on Goes with

this code:

o

%
~TE

2 you

e

T costs 100 dollars o buy a tow.

more money do you need 7

have 72 dollars. how much

.

s

-

Tt costs (00 dollars % buy 3 cow,
Tt eost 72 dollars to Buy a bufalo.

How much would it cost to
buy ‘them both”

-




Adve

ntures in Arithmetic

A GNT CAKE

Use & penai| and paper.
Write the code Yt

goes with {he ?/ueaﬁon
on s po. ( You
don't have o answer the
aues(‘ion.)

You will need 50 egos & make &
g«‘anf bn‘f(hclay cake. 'Ragh‘t now

you have 32 esgs Houw many
mote. eggs do you need 7

Z.|

Problem Solving

REVIEW

You have seen all of e fi/ue.Sﬁons on “this

page before. See if you can @mamber how
to wite codes for all of ‘them. (se a
pevcil and paper. ( You don't heve

answer The 1ues‘ﬁon&.

| Thewe are 4 oraages on @ Table. There are

3 oandes on a chair: Altogethet, how many
Ofanges are in this S(bry7

There are 22 rocks in a bag Tf you

toke © of the cocks out of the bag,
how many ceeks will il be mside?

Thete are 37 raising in €ach pile.
There are |4 piles. Alfqgefﬁer,

how many \Sisins are W this slforxl?

-

Page 30
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MORE. ReViEW NEW SToRIES

You have seen all of ‘these cl}Aes‘('ions befoe - Hece ae some stocies you have vt seen befoce.
See if you can remember how to write codes Ty to wate codes for all of them. (You don't
for thew. (Vou don't have to answerhe z;uesfions.\ have to ansuier the questions )

1| Thee agze 841 television sets. ¥ you put .
12. of televisions in eath pile how Ther 24 e §
o il = » 1 e are bluebercies inside a bag.
many pies Cah You male I# you‘tal(e © of the bluebervies out of
2.1 There ae &7 cocruds ina big pile. the b?{ how wany will still be inside?
Ancther pile has only 12 coconuts.
How many Mo are in “the big P;le? 2 “There are 24 blueheties. There
| 2% 6 pig. To be far, howmany
5) r"l'hcare are |26 peanuts. blucberdies should eeeh Pg gtf?
There are 14 elepharts. To be Hair,
how many peanwts should each elephant @7 3 ge@ are 24 blueberries insicle g bag.
' ou & wore b ies i
H You will need S0 To make 3 giant bzg’Y Ao:lt 'Z/O u‘ebem‘es Mtg. oy >
bicthday eale. Right now you havé 32egge. 1o vty Slucbenies wil be in-there
How many more eggy do you need 7
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MORE. NEW STORIE]

Hete are some more stories.
Write 3 code for each guestion. (You
don't have to answer ‘Hthe ?}AQS'(?'OYIS.\

/ You need 24 blueberies. So fac you on}y
have . How many more do You nieed 7

2 Thete ae 24 blueberries |
\ edd'\ b 5
There are @ bag. Rl&:geili?er, hows L
Many blueberries gre inthic story?

3 There are 24 blugheries. T you puf
© of the blueberries into each bag. hows

meny baga will you use?

4 ——You have 24 blugheries. Your feiend
| has only ©. How many wore blueberries

do YO“ have?

Problem Solving

ANSWERS

Write a ecode for each Sory.
Then try o work out the answer

for each code you wate:

L] Ther ate 4 meathalls on the Gable.
Thee a3 mesthalls in The re?n'gerafoﬁ

leoga‘fher, how Wauy meathalls are
n Hhis sibrﬂ

Your dog will want G mexthalls.

4 Rt‘ghf now there are only 2.

How many more meathells do
you need?

Page 32
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MORE  ANSWERS

Write a code for each sfory.
Then try 4o work out the

answer for each code You wrife

| There are 12 mesthalls.

¢ you put 4 of the weatballs in
cach pile, how many piles

can \ou make

O —

2 | “There are 7meaiba”x on a plafe,
If You eat 3 of them, how

many will be left 7

Problem Solving Page 33

STLL MORE ANSWERY

Wrife & aode for exch story. - d

Then fry to work outthe 1
answer for each oode. 7

| [

There ae 4 mestballs on esch plate.

1.

e e 3 plates. How men
meatballs do you tink Yrere sr2”?

There are 8 meathalls on a big’ platc.

There are 2 meathells on & [itdle flafc.
How many wore are on ‘the b‘g pla&?

There are [0 meatballs. There are

Z plates. # you want the same
amount on each plate, how many
meatballs <hould you pul on esth p/afﬁ?
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MORE  LARGE. NUMBERS
Wite a code for each story. Then 4y b

LARGE NUMBERS

Write a code for each Gfofy. Then ‘fry 1o
work out -the answer for each code.

Work out the auswer for each code
[ The
1. | “There are 24 pancskes. 1 @ are 34 pancakes
There are 3 gZple. T you eat If of ‘ﬁem, how
To beir, how many pancakes many  pencakes will be |eft?
shouwld exch ?
pesson get 2 [ There are 20 pancekes on each plate
1 Thee are 3 pletes. Al erPhouo.
2. | Nour friend has 38 pancales. |y poncakes e inthis sty 7
sl s ens ity 3 [ You would fike o fo )
: i uld like
Mmany more does your friend heve? but 3o tor you only h:; %;/ sncakes
How mony more: do you. need ?

3 | There are 22 Pencales on a plte. — N
Thee are |4 pancakes onthe floor. 4 | Them are 28 poncakes. T youu 7
Ritogether, how many pancakes are put 2 of the fencakes on eachy
in .é; S{'Ofy’? Plate' how My Plb‘(es wil you use ’

— —

J

w——r




